- ®
-é Paola

UHCTPYKLUA NO CBOPKE PAKOBUHbI

design creativo

TUMN YCTAHOBKMU: TUN YCTAHOBKMW:
noABecHas!, pacrnonoXxeHme yHMBepcanbHas (NogBecHasi, pacrnonoxeHme
HaZ cTMparbHON MaLLUNHOMN. HaZ CTMparibHOM MaLLMHOWN,

pacrnonoxeHne Ha Tymbe)

Komnnekrauus (saeucut ot mogenu): Komnnekrauus (saeucur ot mogenmu):

1. KOMMneKT KpOHLITENHOB (NEBbIV U NpaBbIn) . 1. KpoHwTenH -1 wr.

2. KomnnekT kpenexen: BUHT M6 x12 - 4 i, 2. KomnnekT kpenexen: BUHT M6 x12 - 2 wr,
wanba 6 - 4 wT., rpoBepHas wawnba - 4 WrT. wanba 6 - 2 wrT., rpoBepHas wawba - 2 WrT.

1. BbinonHuTe NpeaBapuTenbHY0 pa3MeTKy CTEHbI, Ha KOTOPOW OyaeT KpenuTbCsl PakoBUHA, YYUTbIBaS
CXeMYy YCTaHOBKW PaKOBWHbI M CTUPanbHON MallvHbI. PekomeHayemasi npov3BoanTerneM MakcumarnbHas
rmybvHa cTupanbHOM MalUUHbLI 3aBUCUT OT MOAENN PaKOBUHbI, MUHUMarbHOE pacCTosIHUE MeXAay
CTUpanbHOM MalmHon 1 pakoBuHoi Paola coctaensieT 15 mm. MNpousBoanTenb pekoMmeHayeT
OCTaBMsiTb PaccTosiHVE, B 3aBUCUMOCTM OT MOAENN PaKOBWHbI, OT CTUPANbHON MaLUUHbI 40 CTEHbI,

TaK KaK 370 NPOCTPaHCTBO UCMONb3yeTcs Ansi NoaBeaeHUst TEXHUYECKUX KOMMYHUKaLMA.

2. MNpuKpenuTe K CTEHE C NOMOLLbIO KPENEXHbIX 3NIEMEHTOB (He BXOAST B KOMMMEKT NOCTaBKU U
npuobpeTatoTcsl OTAENBHO) KPOHLUTENHBI.

3. YcTaHOBUTE cMecuTenb B CTaHO4ApPTHOE OTBEPCTME Ha pakoBuHe Paola n 3akpenuTte ero cornacHo
WMHCTPYKLUWUWN, NOCTaBNSAEMON B KOMMJIEKTE CO CMECUTENEM.

4. [MpounssegmTe MoHTax pakoBuHbl Paola, 3akpenunB ee K KpOHLUITENHAM C MOMOLLLI KPEeMNeXHbIX
3NeMeHTOB- BUHTOB M6 x12 1 wanb 6, rpoBepHbIX Wand BXOASALWMX B 3aBOACKYH KOMMSEKTaLUMIo,
a TakkKe 3akragHblX raek, yTOnfeHHbIX B TeNO PakoBUHbI C 0BpaTHOM CTOPOHBI.

BHumaHwume! 3anpeweHo skpyqusameb 6051mbI 351IeKMPOUHCMPYMEHMOM 8 3aK/1alHble
2aliku, Heo6x00uMO nNpuMeHsIMb OJi1s1 3MO20 MOJIbKO OMeepPMKY.

5. YcTaHOBUTE HA CMOHTUPOBAHHY PaKOBUHY BbIMYCK / «CrIUB-NEPEnmB».*

* B 3agucumocmu om modesiu pakoguHbl Mi3zomoeumerb ocmasrnsem 3a cobol rnpaso 8HOCUMb UBMEHEHUST 8 KOMIsIekmauuro M3denus.



= ®
é Paola

ASSEMBLY INSTRUCTION OF SINK

design creativo

TYPE OF INSTALLATION - hanging, TYPE OF INSTALLATION - universal,
location above the washing machine. hanging, location above the
washing machine.

COMPLETEMENT COMPLETEMENT

1. A set of supports (left and right). 1. The support.

2. Set of fasteners: screw M6 x 12 - 4 pcs., 2. Set of fasteners: screw M6 x 12 - 2 pcs.,
Washer 6 - 4 pcs., Lock washer - 4 pcs. Washer 6 - 2 pcs. Lock washer - 2 pcs.

1. Pre-mark the wall on which the sink will be mounted, taking into account the layout of a sink and
washing machine. Maximum washing machine depth recommended by the manufacturer, it depends on
sink model; minimal distance between the washing machine and the Paola sink is 15 mm.

The manufacturer recommends to leave a clearance, it depends on sink model; from the washing
machine to the wall, since this clearance is used for piping utility lines.

2. Attach the sink to the wall using fasteners (not supplied and sold separately), the supports.

3. Install a mixer tap in a standard hole on the Paola sink and fasten it according to the instructions to

the mixer tap.

4. Mount the Paola sink by securing it to the supports using fasteners - M6 x 12 screws and washers Ne6,
lock washer included in a factory package, as well as lock nuts embedded in the sink body from the back

side.

Attention! It is forbidden to screw bolts with a power-driven tool into the
nuts, it is necessary to use only a screwdriver for this purpose.

5. Install a washbasin drain / waste and overdraw * on the mounted sink.

* Depending on a mode! of a sink, the Manufacturer reserves the right to make changes to the complete set of the Product



	Страница 1
	Страница 2

